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Chapter 1 and 2 Review
Evaluate the expression.
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Solve each equation.
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7. Steven belongs to an internet music service that charges S

a. Write an equation to represents how much his monthly bill is.
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b. If he downloads 22 songs last month, how u

c. If his bill was $18.10, how many songs did he download?
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50 a month and $0.80 per song.
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M&*M

C+ %j:?mm(a'&\m

’\%‘303 Y,.80 +0,8n

50 50

e ——

a. Wnte an equation to represent the total cost.
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8. The Pizza Sﬁ%ck charge§\$6.25 per pizza and $1.40 per.

pizza to deliver.
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b. If you order 4 pizzas, how much will the total cost be? C/ G QS L“)‘H ""‘(L{B
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9. Express the relation {(0,-2),
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, (2,3)} as a table, a graph, and a mapping. Determine if it is a function and explain
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Determine if the following are functions and explain why.
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Evaluate the following if f(x)= 4x - 5
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Literal Equations - Solve for the indicated variable. | = ;Z____m )
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23) You are buying your first car and have narrowed it down 6 your top two choices. You 2|
have to drive a long distance to get to work daily, so fuel efficiency is a top priority for you. e
Choice A has advertised that you can drive 300 miles on 16 gallons of gasoline. Choice B
states that you can drive 156 miles on 7 gallons of gasoline. Which car has better fuel

efficiency? Show all work and state the miles per gallon for both Choice A and B._
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24) In 1990, Mary's height was 61 cm. In 2000, she grew to 130 cm. Find the percent increase
in Mary's height. —~

106} Gy A
e eﬁ@\.\’a W3Z \ncrease






g € 450401

“§50161%) (653

. “»(.,Jﬁ'.i.’v,'.li.fi.m EEEI—

EEEE “ )

©L.90 D o
5 e B=d)

e

2) No,an = is fonced willy
3| 2 diberedt v,

No,Sail\s
i tec¥ical
line desk




